General Info

Number: PROJECT NO. 59-18-04 (RE-BID)

Description: PAVEMENT REPAIRS

EASTBOUND AND WESTBOUND ROADWAYS

MILEPOST 80.50 TO MILEPOST 86.15

OTTAWA AND SANDUSKY COUNTIES, OHIO

Deadline: JULY 3, 2018 AT 2:00 P.M. (EASTERN)

(Estimated Cost: \$410,000.00)

Bids	
Business	Bid Total
Burton Scot Contractors, LLC	\$265,306.13
Shelly Company - Northwest	\$293,133.66
Gerken Paving, Inc.	\$394,578.96
Kokosing Construction Company, Inc.	\$660,046.19

BURTON SCOT CONTRACTORS, LLC

PROJECT NO. 59-18-04 (Ref. Nos. 1-13)						
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension
1	IB. ART.6	PREMIUM FOR CONTRACT PERFORMANCE BOND	1.00	LUMP	\$3,000.00	\$3,000.00
		AND PAYMENT BOND				
2	254	PAVEMENT PLANING, ASPHALT CONCRETE (W=4')	2,995.78	SQ.YD.	\$9.00	\$26,962.02
3	254	PAVEMENT PLANING, ASPHALT CONCRETE (W=12')	4,676.53	SQ.YD.	\$7.00	\$32,735.71
4	SP 404	ASPHALT CONCRETE SURFACE COURSE, USING	426.24	CU.YD.	\$270.00	\$115,084.80
		CRUSHED SLAG, PG 64-22				
5	SP 404A	JOINT SEALER	20,901.00	FOOT	\$0.50	\$10,450.50
6	407	NON-TRACKING TACK COAT	614.00	GALLON	\$3.00	\$1,842.00
7	SP 614	MAINTAINING TRAFFIC, AS PER PLAN	1.00	LUMP	\$20,000.00	\$20,000.00
8	621	RAISED PAVEMENT MARKERS REMOVED	113.00	EACH	\$15.00	\$1,695.00
9	SP 621	RAISED PAVEMENT MARKERS	113.00	EACH	\$51.50	\$5,819.50
10	SP 623	CONSTRUCTION LAYOUT SURVEY	1.00	LUMP	\$3,000.00	\$3,000.00
11	624	MOBILIZATION	1.00	LUMP	\$35,000.00	\$35,000.00
12	642	6" WHITE LANE LINE, TYPE 1	9.30	MILE	\$862.00	\$8,016.60
13	642	6" YELLOW EDGE LINE, TYPE 1	2.00	MILE	\$850.00	\$1,700.00

Total: \$265,306.13

TEMPORARY ACCESS DEDUCT ALTERNATE

TEMPORARY ACCESS DEDUCT ALTERNATE CREDIT >> A Temporary Access Deduct Alternate Proposal is included in the Bid Amount of TEMPORARY ACCESS DEDUCT ALTERNATE CREDIT (must be a positive number)::

SHELLY COMPANY - NORTHWEST

PROJECT NO. 59-18-04 (Ref. Nos. 1-13)						
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension
1	IB. ART.6	PREMIUM FOR CONTRACT PERFORMANCE BOND	1.00	LUMP	\$1,500.00	\$1,500.00
		AND PAYMENT BOND				
2	254	PAVEMENT PLANING, ASPHALT CONCRETE (W=4')	2,995.78	SQ.YD.	\$12.00	\$35,949.36
3	254	PAVEMENT PLANING, ASPHALT CONCRETE (W=12')	4,676.53	SQ.YD.	\$10.00	\$46,765.30
4	SP 404	ASPHALT CONCRETE SURFACE COURSE, USING	426.24	CU.YD.	\$300.00	\$127,872.00
		CRUSHED SLAG, PG 64-22				
5	SP 404A	JOINT SEALER	20,901.00	FOOT	\$0.50	\$10,450.50
6	407	NON-TRACKING TACK COAT	614.00	GALLON	\$2.00	\$1,228.00
7	SP 614	MAINTAINING TRAFFIC, AS PER PLAN	1.00	LUMP	\$35,000.00	\$35,000.00
8	621	RAISED PAVEMENT MARKERS REMOVED	113.00	EACH	\$3.00	\$339.00
9	SP 621	RAISED PAVEMENT MARKERS	113.00	EACH	\$51.50	\$5,819.50
10	SP 623	CONSTRUCTION LAYOUT SURVEY	1.00	LUMP	\$4,000.00	\$4,000.00
11	624	MOBILIZATION	1.00	LUMP	\$16,000.00	\$16,000.00
12	642	6" WHITE LANE LINE, TYPE 1	9.30	MILE	\$700.00	\$6,510.00
13	642	6" YELLOW EDGE LINE, TYPE 1	2.00	MILE	\$850.00	\$1,700.00

Total: \$293,133.66

TEMPORARY ACCESS DEDUCT ALTERNATE

TEMPORARY ACCESS DEDUCT ALTERNATE CREDIT >> A Temporary Access Deduct Alternate Proposal is included in the Bid Amount of TEMPORARY ACCESS DEDUCT ALTERNATE CREDIT (must be a positive number)::

GERKEN PAVING, INC.

PROJECT NO. 59-18-04 (Ref. Nos. 1-13)						
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension
	IB. ART.6	PREMIUM FOR CONTRACT PERFORMANCE BOND	1.00	LUMP	\$2,300.00	\$2,300.00
1		AND PAYMENT BOND				
2	254	PAVEMENT PLANING, ASPHALT CONCRETE (W=4')	2,995.78	SQ.YD.	\$10.50	\$31,455.69
3	254	PAVEMENT PLANING, ASPHALT CONCRETE (W=12')	4,676.53	SQ.YD.	\$7.75	\$36,243.11
	SP 404	ASPHALT CONCRETE SURFACE COURSE, USING	426.24	CU.YD.	\$400.00	\$170,496.00
4		CRUSHED SLAG, PG 64-22				
5	SP 404A	JOINT SEALER	20,901.00	FOOT	\$0.86	\$17,974.86
6	407	NON-TRACKING TACK COAT	614.00	GALLON	\$1.95	\$1,197.30
7	SP 614	MAINTAINING TRAFFIC, AS PER PLAN	1.00	LUMP	\$96,500.00	\$96,500.00
8	621	RAISED PAVEMENT MARKERS REMOVED	113.00	EACH	\$2.50	\$282.50
9	SP 621	RAISED PAVEMENT MARKERS	113.00	EACH	\$51.50	\$5,819.50
10	SP 623	CONSTRUCTION LAYOUT SURVEY	1.00	LUMP	\$14,000.00	\$14,000.00
11	624	MOBILIZATION	1.00	LUMP	\$10,000.00	\$10,000.00
12	642	6" WHITE LANE LINE, TYPE 1	9.30	MILE	\$700.00	\$6,510.00
13	642	6" YELLOW EDGE LINE, TYPE 1	2.00	MILE	\$900.00	\$1,800.00

Total:

\$394,578.96

TEMPORARY ACCESS DEDUCT ALTERNATE

TEMPORARY ACCESS DEDUCT ALTERNATE CREDIT >> A Temporary Access Deduct Alternate Proposal is included in the Bid Amount of TEMPORARY ACCESS DEDUCT ALTERNATE CREDIT (must be a positive number)::

KOKOSING CONSTRUCTION COMPANY

PROJECT NO. 59-18-04 (Ref. Nos. 1-13)						
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension
1	IB. ART.6	PREMIUM FOR CONTRACT PERFORMANCE BOND	1.00	LUMP	\$5,000.00	\$5,000.00
		AND PAYMENT BOND				
2	254	PAVEMENT PLANING, ASPHALT CONCRETE (W=4')	2,995.78	SQ.YD.	\$19.00	\$56,919.82
3	254	PAVEMENT PLANING, ASPHALT CONCRETE (W=12')	4,676.53	SQ.YD.	\$19.00	\$88,854.07
4	SP 404	ASPHALT CONCRETE SURFACE COURSE, USING	426.24	CU.YD.	\$525.00	\$223,776.00
		CRUSHED SLAG, PG 64-22				
5	SP 404A	JOINT SEALER	20,901.00	FOOT	\$0.80	\$16,720.80
6	407	NON-TRACKING TACK COAT	614.00	GALLON	\$3.00	\$1,842.00
7	SP 614	MAINTAINING TRAFFIC, AS PER PLAN	1.00	LUMP	\$210,000.00	\$210,000.00
8	621	RAISED PAVEMENT MARKERS REMOVED	113.00	EACH	\$8.00	\$904.00
9	SP 621	RAISED PAVEMENT MARKERS	113.00	EACH	\$51.50	\$5,819.50
10	SP 623	CONSTRUCTION LAYOUT SURVEY	1.00	LUMP	\$2,000.00	\$2,000.00
11	624	MOBILIZATION	1.00	LUMP	\$40,000.00	\$40,000.00
12	642	6" WHITE LANE LINE, TYPE 1	9.30	MILE	\$700.00	\$6,510.00
13	642	6" YELLOW EDGE LINE, TYPE 1	2.00	MILE	\$850.00	\$1,700.00

Total: \$660,046.19

TEMPORARY ACCESS DEDUCT ALTERNATE

TEMPORARY ACCESS DEDUCT ALTERNATE CREDIT >> A Temporary Access Deduct Alternate Proposal is included in the Bid Amount of TEMPORARY ACCESS DEDUCT ALTERNATE CREDIT (must be a positive number)::